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ANSWERS

GENERAL REVIEW
1. Possible answers: @ Firo is a combus-
tion reaction that occurs when molecular
covalent compounds combine with
oxygen. @ Fire is composed of super-
heated gases that emit light. @ A firo can
be put out by removing its access to fucl
or preventing oxygen from reaching the
fuel. @ Fire is a redox reaction. Redox
reactions are also important to internal
combustion engines and extracting met-
als from thei oros. ® Not all substances
can burn. Some do not combust at all,
and others only emit a flash of heat and
light but do not burst into flames.
Possible answer: Chemical changes
in which chemical bonds broak and
re-form during exothermic reactions
release useful energy. Redox reactions
such as combustion supply energy.
These reactions release the potential
chermical energy in fuels to heat our
‘homes and power our technology. Our
bodies also use redox reactions to
reloase the potential chemical energy
in the food we cat.
3. The thermal energy of an exothermic
reaction is the result of bond making

o o than is required
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and only flows from a bottar objoct 108
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7. Moroanorgy s required o raise the
temperaturs of ater than t aiso he
\emperature o ahuminum by the same
t bocause water has a highe
specific hoat capacty than aluminun
8. Possible answer: The differonce in (10
latont heat of fusion tolls you tht it akes
nor than throo nuch morgy (0
“helt a given mass of i than to mol the
Samo rass of solid ethanal. Also. three
{imes a5 much energy s given off when 3
given mass af walor froczes than whorh
{he smo mass of ethanol foczes.
5. Possible answers (any 3): @ Mix the
roactants. @ Add heat.  Add energy 10
Somo form other than heat. @ Incredse
the surfaco area. @ Increase tho
concentration. ® Increase the prossure.
 Add a catalyst,
10. Work s a transfo of anergy
resulting rom a orce acting through a
distance. 44.000)
1. Possible answer:
12. Possible answer:
241(5) + 3Cu(ag) - 2APag) + 3Culs)
13. Zn(s) + 2Mn*(ag) =

Zn(ag) + 2Min(ag)
Zinc loses olectrons, so It is oxidized.
Magnesium gains olectrons, 5o
‘magnesium jons ae reduced.
2Al(s) + 3Ca* (ag) - 2A1**(ag) + 3Cals)
Aluminum loses electrons, so it is
oxidized. Calcium gains electrons, 50
calcium ions are reduced.
14. Atoms or ions that lose electrons
are oxidized. Atoms or ons that gain
electrons are reduced.
15. Tho ray modal shows the light path
using straight lines. The wave model
shows light as waves and indicates that
LM b 1 )

and froquencies. Tho photon

‘model shows light as particlos. The
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